
  
Сложение и вычитание 

в пределах 10





СОВА
                                                                 
        4                                                 
2         2 





Бородатая 
неясыть

            Длиннонохвостая   
                     неясыть

   Полярная сова Мохноногий сыч

Воробьиный сыч





СОВА



 7 + 3 = 10 (к.)
Ответ: 10 конфет.

Задачи



  
 5 к.

8 к.

 8 - 5= 3 (к.)
Ответ: 5 кубиков.

? к.



2 + 5 = 7
8 – 2 = 6
7 – 8 = Л 

            

     8 - 7 = 1



5+4= 9     10-4= 6      10-2+0=8     7-3+5=9
2+8= 10    8 - 3=5      10-4+2=8     8-2+1=7  
0+8= 8      9 - 2=7       8 -5+6=9     10-0-4=6
6+3=  9     7 - 5=2       5 -3+4=6      9-3-4=2



Я отлично работал, 
все понял, могу 

объяснить другим.

Я хорошо 
работал и все 

понял.

Мне нужна 
консультация.



м
о
ммолодцы


